2M030 Pupil Tasks

Master Money in Pence

Fluency 1

Use the representations to fill in the missing values.
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There is p coin, p coin and P
coins. The amount is p.
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There is p coin, p coin, P
coin and p coin. The amount is p.
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Fluency 2

Use the representations to fill in the missing values.
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There is p coin, p coin and P
coin. The amount is p.
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There is p coin, p coin, @

coin, p coin and p coin. The amount is

P
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2M030 Pupil Tasks

Master Money in Pence

Fluency 3

Use the representations to fill in the missing values.

Fluency 4
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Use the representations to fill in the missing values.
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There are p coins and p coin. There is p coin and p coin.
The amount is p. The amount is p.
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There is p coin, p coin, P There is p coin, p coins and
coin and p coin. The amount is p. p coin. The amount is p.
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Is Jane correct? What is the same? What is different? @ g
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The amount is 19p. [=
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Explain how you know. . J
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